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2 ZHE= SAN 230
2HAEse I 2s(2sL2aF/250 =)
28 2EE |4

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
== 500,000
o1 &2 1,000,000 700,000 300,000
OYA=MOIEH 3 I 1,000,000
Xl 500,000
& 500,000
MH CHetel=2 ofeld =8 (=21) 280,000 245,000 35,000
N 140,000
o= 140,000
308 MXISHMSOIA 280,000 245,000 35,000
N 140,000
& 140,000
01 IXHHINMNEEXTZ 280,000 245,000 35,000
OMI33 MH thgtel=2 ol =& 280,000
Xl 140,000
== 140,000
h2d 2SS9 XA 1,000,000 1,200,000 A 200,000
307 2Iz2t0| & 1,000,000 1,200,000 A 200,000
03 QIZIHY P ESIHIEX 240,000 0 240,000
OHM123 H2H2MS2HM HAXH 240,000
04 CIZ2tSHALALS B X 760,000 945,000 A 185,000
OHM123 H2HE=2HS2YH MK 760,000
EHCO2oAYE 24 1,775,000 2,173,000 A 398,000
Xl 300,000
o= 1,475,000
HUISAY DIt S 1,340,000 1,078,000 262,000
202 044 10,000 8,000 2,000
01 2L Y| 10,000 8,000 2,000
OFH 234t JIgtx S 2O Y| 10,000
307 2Iz2to| A 300,000 300,000 0
02 QIZFA AAIE E X 190,000 300,000 A 110,000
OLJAFAaAA X3 190,000
03 AAHHEESIHES 110,000 0 110,000
oOXJdFANMNA XA 110,000
308 AHXIEHSOIA 530,000 770,000 A 240,000
01 AIXSHMENMNEX= 530,000 770,000 A 240,000
olzss2t= &2 NY9Es A3 150,000
OEW 23X d HAs =X 350,000
O&W G3tM X& 30,000
403 XX SHHS K20 & 500,000 0 500,000
01 AIXISHHMA=Z2E X 500,000 0 500,000
OF=HCT2HAH HEOS X4 500,000




AR S22 25  23t0l=
HE: YRS FW YSHSHUDB/250E)
S BUENY K4 (29l & 2)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
HEBEAMIE(ICT) 88 000 2si2d=x 84 120,000 70,000 50,000
201 gBt24d| 20,000 20,000 0
01 AP 22| H| 20,000 20,000 0
OICT 888 FAAKG 29 20,000
307 2izto| A 100,000 0 100,000
02 QIZIA AAIE E X 100,000 0 100,000
O2ZH=x MH SHXSH 100,000
HEEH e-AZ=[3 ZIXNHA 15,000 15,000 0
308 AMXISHMSOIA 15,000 15,000 0
01 X HHIMNEEXTZ 15,000 15,000 0]
OMHEHH e-AE=x [(H3 ZIXH 15,000
Aoedgetz AHE(=21) 300,000 750,000 A 450,000
Xl 300,000
403 XX SHHM S X201 A 300,000 750,000 A 450,000
Xl 300,000
01 XIS A2E X 300,000 750,000 A 450,000
OX2HsI HEANY 300,000
N 300,000
SEI EPANY =4 2,929,500 0 2,929,500
Xl 2,100,000
= 829,500
g4 23lilsE X4 (=21) 1,950,000 0 1,950,000
Xl 1,500,000
& 450,000
403 XX SHHS K201 & 1,950,000 0 1,950,000
Xl 1,500,000
= 450,000
01 XIS AZ2E X 1,950,000 0 1,950,000
O=sH2MzsE =4 1,950,000
Xl 1,500,000
= 450,000
StF K-Z2 4 2dl= /A AU (=21D) 979,500 0 979,500
N 600,000
& 379,500
307 QI2t0| ™ 570,000 0 570,000
N 285,000
= 285,000
02 AI2tAAMAIE E =X 570,000 0 570,000
Oet: K-Z2 X 2EH = HAHMA A5 570,000
Xl 285,000
& 285,000
308 XX SHHSOIH 409,500 0 409,500
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AZ: 2AVBUSS SN 250D
M 2R WHE BEE - &5 (2L 2 /23M)
el 2aRM FEIIE PE - 25 CERED
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 12,000 12,000 0
01 At 22l 12,000 12,000 0
O=23M =2IE0DN Y2t 12,000
PHRSIM d=XR(=12) 782,900 1,185,600 A 402,700
= 513,000
Xl 80,000
= 189,900
308 XXM SO A 116,000 0 116,000
Xl 80,000
< 36,000
01 IXNHHBNEES 116,000 0 116,000
O&SAt 2T X& 116,000
X 80,000
< 36,000
403 A X EHHS 20l A 666,900 1,185,600 A 518,700
= 513,000
< 153,900
01 X EHHMAZLE L 666,900 1,185,600 A 518,700
OZEsd M2t HY 666,900
= 513,000
< 153,900
LHSHW M4V 2% 2L NV (2D) 213,498 126,750 86,748
= 147,240
< 66,258
308 XX EHHSOIA 213,498 126,750 86,748
= 147,240
= 66,258
01 HIXNHHNBNEES 213,498 126,750 86,748
ORI d-84dst 2208 29 213,498
= 147,240
< 66,258
gg 282 (=21) 100,000 100,000 0
= 100,000
308 XtXIEHH SOl A 100,000 100,000 0
= 100,000
01 AXHHIYEES 100,000 100,000 0
O=2"=2stM Ma-2te| 100,000
= 100,000
23 Se2eddA 25(=22) 227,854 248,539 A 20,685
J| 175,272
< 52,582
308 MtXIEHMSOIH 227,854 248,539 A 20,685
J| 175,272
< 52,582




AZ: 2AVBUSS SN 250D
M 2R WHE BEE - &5 (2L 2 /23M)
el 2aRM FEIIE PE - 25 CERED
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 227,854 248,539 A 20,685
Ozt SEZeldAH = 227,854
J| 175,272
< 52,582
S22 SMAAE 2=(=21) 328,226 244,200 84,026
J| 268,580
< 59,646
308 XXIEHH SOl A 132,720 0 132,720
J| 117,600
< 15,120
01 AXHHILEES 132,720 0 132,720
O=JIXNZE =M &at2eli ESXE 132,720
J| 117,600
S 15,120
403 XIXISHHIS X =201 & 195,506 244,200 48,694
J| 150,980
< 44,526
01 HIXSHMA=E X 195,506 244,200 N 48,694
O2NXNEFZ3M MHHLSXANAE RS 195,506
J| 150,980
< 44,526
23 2E HAY XA (=21) 451,500 325,000 126,500
= 258,000
< 193,500
308 XXM SO0l A 451,500 325,000 126,500
= 258,000
< 193,500
01 IXNHHMBNEES 451,500 325,000 126,500
O23MEE =AY X 451,500
= 258,000
< 193,500
a0t sH= ME, S BEMY(Z1) 249,300 50,700 198,600
= 166,200
< 83,100
308 MtXIEHMSOIH 249,300 50,700 198,600
= 166,200
< 83,100
01 AXHHILEES 249,300 50,700 198,600
OMZ, & MY 249,300
= 166,200
< 83,100
MASA S22 & EE2(=21) 10,000 10,000 0
= 10,000
308 X EHSOIA 10,000 10,000 0
= 10,000




AR S22 25  23t0l=
B 23949 HHN 22 M3 (2LBZ/25T)
el 2aRM FEIIE PE - 25 CERED
L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
01 AIKSHMEAMNEX= 10,000 10,000 0
ONAHSA SH22 & EE 10,000
= 10,000
23 S2AMY(=2D) 782,667 978,333 A 195,666
J| 469,600
= 313,067
307 QI2t0| & 782,667 978,333 A 195,666
J| 469,600
= 313,067
02 QI2tAAMAIE E =X 782,667 978,333 A 195,666
O23M =S At 782,667
J| 469,600
& 313,067
NS A DIEsAL X2 (=21D) 32,045 0 32,045
= 26,390
= 5,655
308 XX SHHSOIH 32,045 0 32,045
= 26,390
o= 5,655
01 AIXSHMEMNEXZ 32,045 0 32,045
OXHAR A OIEHAN X 32,045
= 26,390
&< 5,655
EMES ¥ A 24,696,297 19,013,015 5,683,282
= 14,974,980
Xl 800,000
& 8,921,317
23t 2=AH| 3,014,000 3,900, 165 A 886, 165
202 o4 | 14,000 14,000 0
01 2L I 14,000 14,000 0
O23tM B84l =& 14,000
403 XX SRS K20l A 3,000,000 3,886, 165 /886, 165
01 MXHHE2E =X 3,000,000 3,886, 165 886, 165
OEXAEES M E4+3H| 3,000,000
HNEANE BEXH(=Z1D) 2,343,750 1,737,000 606,750
= 1,591,000
& 752,750
403 XX SHH S X201 A 2,343,750 1,737,000 606,750
= 1,591,000
o= 752,750
01 XS A=2E X 2,343,750 1,737,000 606,750
ONSESANE BE=X& 1,159,500
= 773,000
= 386,500




AR 2HBBHSD 2N 2EHED
M 2R WHE BEE - &5 (2L 2 /23M)
el 2sTEas U SAFY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OHSALE ETHAIAH = 1,184,250
= 818,000
< 366,250
2NNE M E+FHl(=2) 18,088,547 13,158,350 4,930,197
= 13,383,980
=) 4,704,567
403 MtXISHHE X201 E 18,088,547 13,158,350 4,930,197
= 13,383,980
=) 4,704,567
01 AXISHHA2E = 18,088,547 13,158,350 4,930,197
O2IMXNEE23M E+=FHl 18,088,547
= 13,383,980
< 4,704,567
EX AMEAN FSHEAZ HE (1) 1,200,000 217,500 982,500
Xl 800,000
< 400,000
403 A X EHS =0l A 1,200,000 217,500 982,500
Xl 800,000
< 400,000
01 X EHHMA=ZLE L 1,200,000 217,500 982,500
O=x MEA RSHAIZ A AY 1,200,000
Xl 800,000
< 400,000
SsSEEZsM2el 50,000 0 50,000
308 XX EHHSOIA 50,000 0 50,000
01 HIXNHHBNEES 50,000 0 50,000
OMZ 2 a7 HE Y S5 50,000
HH2HZHI(2st0l=2)(JIEH/IIE) 54,200 44,200 10,000
Jl=ZHl 54,200 44,200 10,000
2FA2Y JI23H 54,200 44,200 10,000
201 L4l 40,000 30,000 10,000
01 At 2t 2l 40,000 30,000 10,000
ORNM2Y AMR2eltl 40,000
202 (44l 10,000 10,000 0
01 SLHOYI 10,000 10,000 0
ORNE2YE =UHAHHI 10,000
203 YR =&l 4,200 4,200 0
04 FENSEHR=LH| 4,200 4,200 0
©302! 0l ot 350,000& 122 4,200




